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1 Overview

This document lists all the changes needed to correct issues in the ATS iwd-TTCN3-B2019-06_D20wk11 related to the title of this CR.

Contact:
Shaun Harry

shaun.harry@keysight.com
2 Corrections required
. 2.1 Change 1

	Function name
	f_TC_7_1_1_3_5_NR_TestBody()

	Reason for change
	Since in step14 all pending uplinbk data still be sent, the UE will report Long BSR with LCG presence 0000000 and no buffersizelist

	Summary of change
	Expect buffersizelist omitted at step 14

	TTCN module
	MAC_TC_Common_NR.ttcn

	MCC160 Comment
	Rejected. By definition the field is mandatory and IE shall receive an empty list when the UE has not included any longBSR


Before change:

function f_TC_7_1_1_3_5_NR_TestBody(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC

  {

…………………………………..
    //@siclog "Step 13" siclog@

    f_NR_OneULGrantTransmission(nr_Cell1, cs_TimingInfo_Now, v_NR_ResourceAllocation[3]); // Imcs Lrb 160 bits

    // @siclog "Step 14" siclog@

    v_SDU_SubPDUListUL := { cr_NR_MAC_SDU_SubPDU(cr_NR_MAC_SubHeaderWithLI(tsc_LCID, int2bit(12, 8), '0'B), ?) };

    v_CE_SubPDUListUL := { cr_NR_MAC_CE_SubPDU_UL(cr_NR_MAC_LongBSR_SubHeader(int2bit(1, 8)), cr_LongBSR_Payload('00000000'B, {})) }; //@sic R5s190887 sic@
    v_MAC_PDUListUL := { cr_NR_UL_MAC_PDU(v_SDU_SubPDUListUL, v_CE_SubPDUListUL, cr_NR_MAC_Padding_SubPDU(''O)) };

    DRB.receive(car_NR_DRB_COMMON_IND_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListUL));

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 14");

    // @siclog "Step 15 " siclog@

    //@sic R5s190392 R5-197003 sic@

    f_NR_RLC_Status_MAC_PDU_Tx(tsc_LCID, 1, p_NR_DRB_Id);

    t_Watchdog.stop;

  }

After change:

function f_TC_7_1_1_3_5_NR_TestBody(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC

  {

    //TB sizes 40, 128, 144, 160

    const B6_Type tsc_LCID := int2bit(tsc_LCID4, 6);

    const B6_Type tsc_LCID2 := int2bit(tsc_LCID5, 6);

    var NR_ResourceAllocation_Type v_NR_ResourceAllocation[4];

    var NR_UplinkBWP_Type v_NR_UplinkBWP := f_NR_CellInfo_GetUplinkBWP(nr_Cell1, tsc_NR_BWP_Id);

    var integer i;

    var NR_MAC_SDU_Type v_EncodedRlcPdu1;

    var SubFrameTiming_Type v_TimingDL;

    var SubFrameTiming_Type v_TimingUL;

    var template (value) NR_MAC_SDU_SubPDU_List_Type v_SDU_SubPDUListDL;

    var template (present) NR_MAC_SDU_SubPDU_List_Type v_SDU_SubPDUListUL;

    var template (present) NR_MAC_CE_SubPDU_UL_List_Type v_CE_SubPDUListUL;

    var template (value) NR_MAC_PDUList_Type v_MAC_PDUListDL;

    var template (present) NR_MAC_PDUList_Type v_MAC_PDUListUL;

    timer t_Watchdog := 5.0;

    v_NR_ResourceAllocation[0] := f_NR_ResourceAllocation_UplinkGrant(40, v_NR_UplinkBWP);

    v_NR_ResourceAllocation[1] := f_NR_ResourceAllocation_UplinkGrant(136, v_NR_UplinkBWP); //@sic R5s190887 sic@

    v_NR_ResourceAllocation[2] := f_NR_ResourceAllocation_UplinkGrant(152, v_NR_UplinkBWP);

    v_NR_ResourceAllocation[3] := f_NR_ResourceAllocation_UplinkGrant(160, v_NR_UplinkBWP);

    // Stop UL Grant configuration

    //@siclog "Step 1" siclog@

    f_NR_ULGrantConfiguration_Stop(nr_Cell1, -, cs_NR_UplinkTimeAlignment_Keep);

    v_TimingDL := f_NR_GetNextSendOccasion_DL(nr_Cell1); // Timing of DL

    //@siclog "Step 2" siclog@

    // repeated 3 times

    for (i:=0; i<3; i:= i+1) {

      //3 B PDCP H + 3 Byte RLC H + 7B PDCP SDU = 13Byte RLC PDU + 2B MAC Header =15 B + 1 Byte padding =16 B =128 bits

      v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(i, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(i, crs_NR_PDCP_SDU_7B)));//@sic R5s190887 sic@

      v_TimingDL := f_SubFrameTiming_AddMilliSeconds(v_TimingDL, 20);

      v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID2, v_EncodedRlcPdu1) };

      v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL, cs_NR_MAC_Padding_SubPDU) };

      DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_TimingDL), v_MAC_PDUListDL));

    }

    //@siclog "Step 3" siclog@

    //3 B PDCP H + 3 Byte RLC H + 6B PDCP SDU = 12Byte RLC PDU + 2B MAC Header =14 B + 1 Byte padding =15 B =120 bits

    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_6B)));

    v_TimingDL := f_SubFrameTiming_AddMilliSeconds(v_TimingDL, 20);

    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID, v_EncodedRlcPdu1) };

    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL, cs_NR_MAC_Padding_SubPDU) };

    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_TimingDL), v_MAC_PDUListDL));

    //@siclog "Step 4-5" siclog@

    v_TimingUL := f_NR_GetNextSendOccasion_ULafterDL(nr_Cell1, v_TimingDL, 40); // 40 ms later

    f_NR_OneULGrantTransmission(nr_Cell1, cs_TimingInfo_NR(v_TimingUL), v_NR_ResourceAllocation[0]); //40 bits

    // @siclog "Step 6" siclog@

    t_Watchdog.start;

    v_CE_SubPDUListUL := { cr_NR_MAC_CE_SubPDU_UL(cr_NR_MAC_LongBSR_SubHeader(int2bit(3, 8)), cr_LongBSR_Payload('00000110'B, {?, ?})) };

    v_MAC_PDUListUL := { cr_NR_UL_MAC_PDU(omit, v_CE_SubPDUListUL, omit) };

    DRB.receive(car_NR_DRB_COMMON_IND_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListUL));

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 6");

    //@siclog "Step 7" siclog@

    f_NR_OneULGrantTransmission(nr_Cell1, cs_TimingInfo_Now, v_NR_ResourceAllocation[1]); // Imcs Lrb 136 bits

    // @siclog "Step 8" siclog@

    v_SDU_SubPDUListUL := { cr_NR_MAC_SDU_SubPDU(cr_NR_MAC_SubHeaderWithLI(tsc_LCID2, int2bit(13, 8), '0'B), ?) };

    v_CE_SubPDUListUL := { cr_NR_MAC_CE_SubPDU_UL(cr_NR_MAC_ShortTruncatedBSR_SubHeader, cr_ShortBSR_Payload('001'B, ('????1'B, '???1?'B, '??1??'B, '?1???'B, '1????'B))) }; //LCG 1

    v_MAC_PDUListUL := { cr_NR_UL_MAC_PDU(v_SDU_SubPDUListUL, v_CE_SubPDUListUL, omit) };

    DRB.receive(car_NR_DRB_COMMON_IND_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListUL));

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 8");

    //@siclog "Step 9" siclog@

    f_NR_OneULGrantTransmission(nr_Cell1, cs_TimingInfo_Now, v_NR_ResourceAllocation[2]); // Imcs Lrb 152 bits

    // @siclog "Step 10" siclog@

    v_SDU_SubPDUListUL := { cr_NR_MAC_SDU_SubPDU(cr_NR_MAC_SubHeaderWithLI(tsc_LCID2, int2bit(13, 8), '0'B), ?) };

    //@sic R5s190896 sic@

    v_CE_SubPDUListUL := { cr_NR_MAC_CE_SubPDU_UL(cr_NR_MAC_LongTruncatedBSR_SubHeader(int2bit(2, 8)), cr_LongBSR_Payload('00000110'B, {?})) }; //LCG 1, 2

    v_MAC_PDUListUL := { cr_NR_UL_MAC_PDU(v_SDU_SubPDUListUL, v_CE_SubPDUListUL, omit) };

    DRB.receive(car_NR_DRB_COMMON_IND_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListUL));

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 10");

    //@siclog "Step 11" siclog@

    f_NR_OneULGrantTransmission(nr_Cell1, cs_TimingInfo_Now, v_NR_ResourceAllocation[1]); // Imcs Lrb 136 bits

    // @siclog "Step 12" siclog@

    v_SDU_SubPDUListUL := { cr_NR_MAC_SDU_SubPDU(cr_NR_MAC_SubHeaderWithLI(tsc_LCID2, int2bit(13, 8), '0'B), ?) };

    v_CE_SubPDUListUL := { cr_NR_MAC_CE_SubPDU_UL(cr_NR_MAC_ShortBSR_SubHeader, cr_ShortBSR_Payload('010'B, ('????1'B, '???1?'B, '??1??'B, '?1???'B, '1????'B))) }; //LCG 2

    v_MAC_PDUListUL := { cr_NR_UL_MAC_PDU(v_SDU_SubPDUListUL, v_CE_SubPDUListUL, omit) };

    DRB.receive(car_NR_DRB_COMMON_IND_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListUL));

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 12");

    // @siclog "Step 12A " siclog@

    f_NR_RLC_Status_MAC_PDU_Tx(tsc_LCID2, 3, p_NR_DRB_Id);

    //@sic R5s190392 R5-197003 sic@

    //@siclog "Step 13" siclog@

    f_NR_OneULGrantTransmission(nr_Cell1, cs_TimingInfo_Now, v_NR_ResourceAllocation[3]); // Imcs Lrb 160 bits

    // @siclog "Step 14" siclog@

    v_SDU_SubPDUListUL := { cr_NR_MAC_SDU_SubPDU(cr_NR_MAC_SubHeaderWithLI(tsc_LCID, int2bit(12, 8), '0'B), ?) };

    v_CE_SubPDUListUL := { cr_NR_MAC_CE_SubPDU_UL(cr_NR_MAC_LongBSR_SubHeader(int2bit(1, 8)), cr_LongBSR_Payload('00000000'B, omit)) }; //@sic R5s190887 sic@
    v_MAC_PDUListUL := { cr_NR_UL_MAC_PDU(v_SDU_SubPDUListUL, v_CE_SubPDUListUL, cr_NR_MAC_Padding_SubPDU(''O)) };

    DRB.receive(car_NR_DRB_COMMON_IND_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListUL));

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 14");

    // @siclog "Step 15 " siclog@

    //@sic R5s190392 R5-197003 sic@

    f_NR_RLC_Status_MAC_PDU_Tx(tsc_LCID, 1, p_NR_DRB_Id);

    t_Watchdog.stop;

  }
